10352455 — E2H e S B 5 4 B (104/3/3~104/6/30)

Ao BHEEA BEak Y BEEY pNbC UNETFS LR
1 RENIK ik FEOZE(WY ) 17 5% 8 630
2 REMK kA E(OZ (L) 17 5 8 630
3 RIEMIK A PO H (D) 17 5 8 630
4 REMUK A IO (1) 17 5 8 630
5 REMK ik E=(0- (L) 17 5 8 630
6 KRR B PO () 17 5 8 630
T REMK B4 JOtH() 17 5 8 630
8 RIEMK kA =QY=T(L) 17 5 8 630
9 IR B B OZ&(PU) 17 5 8 630
10 EBZEHK A FEOZE(TH) 17 5 8 630
11 RBZEHIK EEi%3B PO (=B) 17 5 8 630
12 RZEHIK RS PROEH(F1) 17 5 8 630
13 EZHK A EOFET) 17 5 8 630
14 EZEHIK EEi4%3B FOH(=B) 17 5 8 630
15 BETE B FEOH (VD) 17 2 8 272
16 BETE 3B FROME(=B) 17 2 8 272
17 BETE EHE3A #HOIE(ZA) 17 2 8 272
18 ——=1#& A HOZ=(PY) 17 2 8 272
19 ——=#% Bt HEOIE (D) 17 2 8 272
20 — = ik ZZOME(Y) 17 2 8 272
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1045 B E B (104/7/1~104/8/31) ]

Rt BEHAH £ BEm FEAY K UNSTFN HERFEY
1 REMIK EES TTOl& 9 5% 8 360
2 RIEMK %S FFOE 9 5 8 360
3 REMIK S BROS 9 5 8 360
4 RIEEMK ERAA BOE 9 5 8 360
5 RHEMK EEAA #ROE 9 5 8 360
6 RIEMK A #ROh 9 5 8 360
T REMK 4B O 9 5 8 360
8 RIEMIK 4B MRO%E 9 5 8 360
9 RIEMK EE1%4B MO 9 5 8 360
10 ‘MK 4B O 9 5 8 360
11 BZEHK EEf%4B 50 9 5 8 360
12 EBEFK 4B FOr 9 5 8 360
13 EZEHK EEf%4B FEOF 9 5 8 360
14  EZEHK E%4B OLE 9 5 8 360
15 ——=# EE1%3B = OfF 9 4 8 288
16 —— =% 3B FHO58 9 4 8 288
17 ——=1 %38 FOI 9 4 8 288
18 ——=# EH3A BROA 9 4 8 288
19 BETE 3B RO} 9 5 8 360
20 BERERHY E%4B FHOR 9 5 8 360
21 BERFRHY %A =OE 9 5 8 360
2 —ItE &S 1 10E 9 5 8 360
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104284F B2 HAZE S5 3 (104/9/1~105/3/2)

AmoR FEAH X B FEHE YNV UNSTPN AR )
1 EBEHK %S TOl& 26 5% 8 1040
2 EBENXK &S HOE 26 5 8 1040
3 REMNK %S PO 26 5 8 1040
4 RBEFK BEIAA HOME 26 5 8 1040
5 EBEFK BEAA E£OE 26 5 8 1040
6 TR BEIAA L Q]as! 26 5 8 1040
T RBEHK 4B RO 26 5 8 1040
8 EENK BE%4B PRO%E 26 5 8 1040
10 EZEHIK 4B EEOPL 26 5 8 1040
11 EZHiK %48 O 26 5 8 1040
12 EBEZHiK BE#%4B BOLE 26 5 8 1040
13 ——=1 EI%3B = O#F 26 2 8 416
14 ——=% EEME3A RO 26 2 8 416
15 BEITHE B3B8 (0= 26 3 8 624
16 EEARIRR, E1%4B O 26 2 8 416
17 BEFREERERE Gt =OHE 26 2 8 416
18 —E &S WOZE 26 2 8 416
19 (BIREIRE Et ENQi 26 2 8 416
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104 E24 N B2 e 22 B 5 (105/2/15~105/6/30)

e BEAH EAXY B4t HEBEH PN INRFIR LSS 1

1 REHK RS #FOR 20 5% 8 800
2 RARHIK EEfRAA RO 20 5 8 800
3 RIEMIK A #ROZE 20 5 8 800
4 REMIK BEHA ZoH 20 5 8 800
5 R EEf#AB O 20 5 8 800
6 R 4B OB 20 5 8 800
7 REMIK 4B 0= 20 5 8 800
8 R 4B O 20 5 8 800
9 HEIEE EERAA Ji0%% 20 4 8 640
10 &alE® A 2I0E 20 4 8 640
11 &elE®E EHRAA £20= 20 4 8 640
12 &elE®E A =OF 20 4 8 640
13 &elE#E EHAB HEOH 20 4 8 640
14 FAlEHE E4B FFOf# 20 4 8 640
15  &elE#® EH3A PROF 20 4 8 640
16 &alE#E EEHBA PROfE 20 4 8 640
17 — =1 EE3A RO 20 2 8 320
18 — =1 E1%3B = O 20 2 8 320
19 BT E1%3B FEHO0F 20 3 8 480
20 PEREIREY 4B HONR 20 2 8 320
21 BERETRHEY A =O0H 20 2 8 320
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